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QUESTION 1

Users are reporting slow performance on a virtual server. An administrator notices that the virtual CPU is at 50%. Which
of the following should the administrator check on the host?

A. 1/O throttling

B. CPU wait time

C. Swap files

D. Memory ballooning

Correct Answer: B

QUESTION 2

An administrator needs to build a VM for a legacy, single-threaded application. According to best practice, how many
virtual CPUs should the administrator use?

Al
B.2
C.4
D.8

Correct Answer: A

QUESTION 3

Which of the following is an access control type that requires a username and password along with a hardware token?
A. SSO

B. Single-factor

C. RBAC

D. ACL

E. Multifactor

Correct Answer: E

QUESTION 4

Cloud developers are experiencing a delay caused by the static code review before each deployment. The security
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operator and developer must address the issue without cutting corners with security testing. Which of the following
would BEST address the delay issue?

A. Replace the static code analysis with hardening techniques.
B. Perform the static code analysis earlier in the SDLC.

C. Perform a penetration test instead of a static code analysis.
D. Replace the static code analysis with a vulnerability analysis.

Correct Answer: A

QUESTION 5

A new application with availability SLA requirements of 99.99% has been deployed in a cloud. For a test spanning a
month, which of the following unavailability times would mean the test was successful? (Select TWO).

A. 1 minute
B. 4 minutes
C. 10 minutes
D. 30 minutes
E. 60 minutes

Correct Answer:. AB
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